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General Instructions :

(1) All questions are compulsory.

- (i)~ This questi

on paper consists of 13 questions which are dwlded into four

Sections :'A’, 'B', 'C’ and 'D':
Section A Question No. 1 of this Section has thirty' five (1-35) ‘Objective
Type Questions. Each question carries 1 mark.
Section 'B': This Section contains five questions from Question Nos. 2 to 6,
each of 2 marks. :
Section 'C': This Section contains five questions from Question Nos. 7 to
w11, each of 3 marks.

Section 'D';

(iii) There is no

2028

This Section contains two questions from Questiori Nos. 12 &
13, each of S marks.

overall CHiaits; However, an internal choice has been, provided in

both two questions of 5-marks. You have to attempt only one of the given
choice in such questions. :
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SECTION - A

(TG )

(Objective Type Questions)

(o 13 18) : #@@qu#mwﬁwﬁ

(Q: 1 to 18) : Select the most appropriate option from given below questions':

L) Pedgmass: 0 b T® :
o) e T YT B) = |
R (R R i e & (D) s
= " Which of the followmg is Fundamental Unit ? |
(A) Watt o e, (B) Newtpn . | e Ay
(o> Ampere . (D) Joule | 3
s (2) Qiswaﬁrgwmqﬁﬁs%a%gﬁaﬁr%n W%W%qﬁmqﬁqﬁsmgﬁ
Bl |
Ay 9% | TrE (d (B) 6% | e ()
© % D) 1% .

2028

There is an error of 3% in the measurement of side of a cube. The

“,;iipercentage error in the calculation of its volume of the sphere will be :

(A) 9% (B) 6%

C) 3% . st o (D) 1%
(@) Pl g (MLT?) = T § 1
“fwwﬁ | (B et @

R D) @R

The d1mens1ona1 formula [MLT ] represent |

(Pr) Force' : (B) Torque -

(C) Power ‘ (D) Momentum

LS
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(4) s:ﬂw@rﬁw%a@qfﬁqu‘mwwam%,w%m-wm
' , 1

@ " r
)3 ®)

©r or - (D) 4r |
A particle completes semicircular path of radius 7, displacement tra§0110d
by particle will be :
& s ® I
©) 2r LA (D) 47 ;
5) T TG T FEd o d e ¥ g @ w - en ¥ 1

i TRt poey

: LG WO O

i

A) Fr1 1oy Mnee

s, ST=

© a1 g D) A

N Y l;"A

U e 5

A S L R SR 1 VO O

= % ) 3
An object is ‘moving with'a constant ‘dcceleration. Its velocity time graph

is :

(B) Velocity T

Time —

(C) Velocity T Sl LLCCI & | (D) Velocity 1

- Time = -
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6)

(7)

(8)

(6) 2028

Frer 3 oifewr R ® e | L 2 1
@) Freme (B) |

(C) *M (D) -

Which of the following is scalar quantity ?

(A) Displacement (B) Velocity

(C) Work | ' (Ly_fgéfce

q Tgel AT B B R A 5 R qem 10 FRn ¥ o Y wH & I A
T ¥ A T B & HET S Sigared 8 e h A 1
@ 1:1  J’f "" Gg»zqs | |

(€ 10:5 sk D) 12

Wi b L £ 7

[

| ’I‘Wo objects A and B of masses 5 kg and 10 kg respectwely are moving

with same veloc1ty The ratlo of their momenturn W111 be :

(A) ;:1 T _~ (B) 1:5
(C) ,1'0':'-'5 EARTELEY D 1:2
P WW%? . R 1 SRt B e BE 1
W Wew @ A w
© Tewr D) W *’
Which Friction is minimum ? R S ;
.(A) Statlc Friction. (B) le1t1ng Fr1ct10n
© Kinetic Friction (D) None B ““ |
(9) ToEEE a9 ¢ b3ty | | )
a) wuE B wema
() e orgwEh gw o (D (D) Gfr{‘rzﬁrﬁ-% EIERS ]

P.Tv@.
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Gravitational force is: |

(A) a conservative force

(B) Pseudo force
(C) a non-conservative force

(D) None of the abO\}e

Py

(lo)wﬁmm%qﬁaﬁvﬁqma%gqﬁﬁmmzm%@ﬁa%ﬁ %,aa 1

TTET

(A) a'—-r(D v _L-l l't) i .;'ié‘.- ‘(B) a ar e

© a=rm ”“?7“?3 (D)r=aaagwar

The linear acceleratlon a of a body rotatlng about an. axis Wlth anguler
{ AT '34 AE AT I @ 5 It 1

' acceleratlon oc then

od Bew mprdasnrond tedgd o oiimt el viicolsr o sadlainx
A) a=ro g B) o=ar
(C) a=m | ; ‘I_‘ ot : (D) r=ao

T A

©) %mwztag-xé)‘ﬂf b DI o e

The potent1a1 energy of a part1cle in SHM at a dlstance x from the

equ1l1br1um pos1t1on is :

(A) %mwzxz | (B) %mwga‘2

~ T ' =1 ]
.“ a4

; _ ety
(€ Emwz(a?_x?) 7NN (D) Zero‘ ‘ - )

(2028 . ' : o NE0GY
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(13)

A7) 2028

e o < B w ¥ o Fro ¥, A R w0 _ ;
(A) TR B)

(©) == (D) W

If a process takes place in a system at a constant pressure, the process is
known as :

(A) Isochoric S—— (B) isothermal»

(C) Adiabatic srosdan 5 v i(Dj' Iéobaric

mmm%@ﬁwrﬁw%gﬁwwwamvégq@%lmw

b 2 !
® ”f (B) mor
c X2 | D)
r VLR - r

A body of mass m is mov1ng on a 01rcle of rad1us r with umform speed wv.

The centripetal force on body 1s

2
@ == y (B) mur
. i
mv { : my
(C) " = (C (D) )

P:mo;
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(14) T oy wug ¥ Ay ¥

() R o R e A
(B) W @ ey Sl AN o
(W T R S o
(D) AT STERRG T TS Sl ERER
In perfect inclastic collision :
(A) both momentim and K.E. are CO;‘ISCIVEd
(B) both fnomentui‘n\and;;K.E. are fot conserved it
(C) momentufn is conserved and.K.E. is. not. conserved.

(D) momentum is not conserved and K.E. is conserved .

(15) 5| M M aer ﬁ*ﬂﬂ'f%i%‘éha ﬁﬁﬁ H ITD aﬂ?réh i sem- aﬂg?ff%

2 TS i‘: () 2

= 2 L2
A IR e -_“.3) T
5 ’ 5

2028

If mass M and radius of sohd sphere is R then moment of 1nert1a about

BRI

diameter is :

(A) 2 MR? i) (B) 2 MR?
3 5
3 2 W 7 I}
2 MR? ‘ D) —MR?
(©) el " (D) ZMR*
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(16)WWTW%@%%W@&%WMWWFW% 1
: | ,

G- B T
€ T (D) T2

The mean kinetic energy of a molecule of any gas at absolute temperature

T'is proportional to :

1 s ok i
W7 ®
T

e

(17)10'[31]1’%—(53@%%1_&“_ Tﬂ:ﬁqﬂ-qﬁm i 71

5",‘71‘ & Tp R }Ii
(A) %Eq (B) T
VISR TSG IS i ";f.[{ e n

€) 1 (D) 100
N _The v;_t_lue of Young S, modulus of elastlclty for a perfectly r1g1d body is :
3. } ﬁ\‘ ¢ ' ) I S BRI B 4 IR L At

(A) Zero e (B) Infinite

(Q)‘i) 11900 wittoswerg s o " (D) \:1100 i 10, Sl ¥

(18)@ma@mﬁg@%méﬂﬁﬁwm%lgﬁﬂmﬁmﬁ

@ e (o) v g

P. IO
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A body enters in the grav1tat10nal field of the earth from, external

atmosphere. The potent1a1 energy of the earth- body system

(A) will increase
(B) will decrease |

(C) will remain unchanged

(D) None of the aveve

(o 19§ 27): a@ww#ﬁaﬁm#ﬁ%ﬁ? e )

(Q 19 to 27) Flll in the blanks wzth approprzate answer :

2028

(19) ...... AT aa%ﬁiﬁvg%w%%mﬂ . ar‘qm%y 1

273.16
1

............... is 273 16th part of thermodynamlc temperature of the triple
point of water. . Ll

(QO)WWW%W @maﬁwaﬁﬁmmm%mm

.............. Tl :
The angle of projeetiorr for which a projectile eover‘ the ' maximum
horizontal range is ..'..'.i..,.,.' ...... |
(21) mqsﬁw%mwaﬁwarﬁquﬂﬁﬁ ...... e B 1
The rate of doing work by a machine is called ............... of the machine
Em qr-'f 6. 67><10"11 “E‘T Iﬂuz/ﬁm? Iy ﬁ‘ﬁm w %l

The value of .............. is determmed to be 6.67 x 10” 1 Newton metre2 /kg?.
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.:(23)

(24)

(25)

A - 2028
T ﬁqﬁq 35T qzﬁ"r[ a;,-@‘; E‘tﬁsm‘ur q?r R aévt ﬁ qﬁaﬁh ﬁ'ﬁqt S

By using ball bearings, sliding frlctlon' can be converted ints
friction. |

A e (SN S ITA o)
1 by / ]
RUAS | I |

m%—ww%wwﬁwmﬁmmm, ........ T

The number of degrees of freedom* of “a'‘molecule ‘of a’diatomic gas

1 PPN | .

T LI
.\rvv‘ 2

mﬁéwmwﬁém@maﬁwa waﬁfaﬁaﬂqﬁf%aﬁm% f?r

a@aﬁ%aﬁﬁ ....... ... A wE Y M 1

" (26) 411

(27)

rrateve #ioo=na 5 ol navie zidsard 1o slirol, Q08 nsd W

When a‘body being acted by.-an: exter'nal pefiodic,s force';Vibrates.'With the

frequency of the force, then the vibrations 'of the body are called

: T 74 TS (o) K t o B L3513 AR Er | e FENRFL SRS ST
; y e £ €1 1X) ) B A AR, L 78 B ARk PS i
e V1brat10ns LR 1] T i gal

igitotan biloz & o (8) aolztsdzy oomture
4.18 Joule of work is equivalent | Lo prnroronsaiTE s M calories of heat.

K.

j

ﬁﬁ@ﬁ%%{%@%ﬁﬁ%ﬁ%@%ﬂ@%ﬁﬂémﬁ@rws‘m%ww
ﬁ%waﬁaﬂtﬁﬂ%ﬁﬂémﬁ@r%%ﬂﬂaﬁwaﬁwﬁmwm%m

o B Y

Sy 0100 ..... for that pa1r of sofld and 11qu1d

L b { » 5 FASI ty'» Y Ay ¥
X Vs TR AR TUTATEE P ASFS ST S e 0 ' . .

The angle 1n81de the llquld between the tangent to the sohd surface and
T —’ i VTS S T B AT U T / 3 £
the tangent to the liquid surface at the pomt of contact is called

A1 IS AR Y
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.(ST028 ¥ 35): Wﬁ%a@vmé‘

(Q- 28 to 35) : Answer the following in short :

2028

(32) @mmww@mmmﬁwwra%? #

(28) TS SIS TR 1 G y = 10sin100xt B A F AT BNAT FARY

" The equation’of a s1mple harmonic motion is y =10sin100nt. Give valuc

4

of amplitude ofjoscillation, iy o lo edsrpsh To odn

(29) wwﬁ@qﬁmrqeﬁmowgfmﬁw% ﬁrmﬁ%wﬁesow@aam

When 200 Joule of heat is glven to a gaseous system then mternal energy
increas_esby 6O‘~‘Joule.JFind:th'ef-‘WOrk' done by the system. !

i ovenorerd iy gl riadd Yo WM TWIERY £6 16 1 )

(30) wmwﬁ%m%@umw(a)wéﬁaww(mﬁerWH

Wr1te relation between coefﬁment of llnear expansmn (a) and coefﬁclent of

§ ,,, . o . _:“.,:';3 i 7§ 17 ot
surface expansion (B) of a sohd mater1al
3 7‘_)1'i.11-" . . ol 'i"‘*"S":""ifii"\"- - :""‘I-’ (0 23 5:.'{» ,;J; )

(31)qﬁmmcﬁm7n%gwmaﬁamw$wm? 1

; _‘b

O

If a VeCtor C is mu1t1p11ed by a Scalar n, what w111 be thc resultant vecotor.

{4 l‘
-5

{1 \
FHIC)

What is relat1on between coefflclent of stat1c‘ frlctlon and thc anglc of

‘ . b S ) ROSRFA VA
frlctlon ? ;
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(33) TIHSh S 7 R gy gy 37 e G T Rt S 1

What is time-period of Geo-stationary satellite ?

(B4) T o & B W B R R o o
Write down the formula for work done in rotatory motion.

(35) 1 & ¥ feo ot B ¥ 7 | s B s T B 3

, How many erg are there in 1 Jbulé' o
e

; @vs a
SECTION B
(aw‘r%r ag aw: Fﬁﬁ‘)

(Very Short Answer Type Questlons)

2. fE I | iR v=u+atEETQ'a&T"TEﬁﬁ1QI
GT%TU=W‘ a—q—’ i'= WEF 3 :ai-l-,‘ vdiﬁlw\“ﬁ-,’:;t-’:’wr{} e \‘\ arit ok o
Check the equation v = u + at by the method, of\zgi\m‘euns‘igns‘.
Where v = final velocity, u= Initial velocity, a= acceleration, t = time.
B« mmﬁqﬁmﬁﬁmw%maﬂ-wwm: ) | 2
Draw veloc1ty-t1me graph of a partlcle executlng s1mple harmomc motlon
4. WF & e ogaEy TG gttt R DA R e ow 2
Write Stoke's Law.
2028 | P.T O}
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¢ . -_) . TRLE L. F - N k
& m FT X SR s 1?=3i+4j,;_-{‘5kr Wfﬁ“ fereme S'=5i4+4j+3k JU~ DL

%Wm@mmﬁ_‘;\ ,»A' AW 2

!
|

The applied force F= 3i+4j- 5k on a partlcle produces displaccment

§a S5i+4j+ 3k . Calculate work done by the forcc

6. ﬁ@r%wﬁmmﬁwﬁm| s e B ey
Write down the iaostulates of k_ineticit_heory of gases. |
| @“3 H |
SECTION C
(?rs W wr)

(Short Answer Type Questlons)

......

Obtain the formula for thq,escape} :vcltocn;y Qf a-body from the Earth.

‘/

erte d1fference betWeen 1sothermal and ad1abat1c process.

/9.ﬁawmAas%mWWW@ﬁﬁamm@@amwmam%a
qu%ﬁmqﬁwﬁzﬁrqﬁqrﬂrle \/A2+B2+2ABCOSOI | | 3

If two vectors A and B represent two adjacent 51des of f)a;aiieingam, then

prove that, magnitude of resultant R =4 A2 + B2{ DAB cos0 .

2028 - .. ‘ ooall
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10. mﬁm%mﬁ%mmmmwamm

-3

Obtain expression for the centre of mass of a system con31st1ng of two
- particles.

11. A i & Py Rifa

State the laws of limiting friction.
g€ -9
SECTION-D -
(ﬁé ST W)

(Long Answer Type Ques_tio:_is) :

12. mﬁﬁq%ﬁmmﬁwﬁﬁmawﬁ@ﬁﬁa@ﬁﬁ%w%w
B B g

5
Prove that the number of beats heard per second is equal to the difference in

frequencies of two sound sources.

OR

A Qe & oTapr & g o o B
Obtain an expression for the time-period of a simple pendulum.

2028 P. TFOIx
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13. Bl By & o 3 oe B @ B MU S m@ wG 0 0

Derive expression for the formula of rise of water in'a capillary tube."

| : - OR
T B g @ [E d) e a
j State and prove Bernoulli's theorem.
| .
|
‘1 a5 ¥ ( )] j ,]"': !

2028
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